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Correct Marks: 4 WrongMarks: 1

The number of elements in the set,

AnBnC

where A={(x,y) e RxXR: |x| + |y]| = 1}
B={(x,y) e RxR:x2+12 = 1]

and C={(x,y)e RxR:max{|x|, |y|}=1}.

is :

Options:



I

infinitely many
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= AnBnC, 5@

A={(x,y)e RxR: |x| + |y| = 1]

B={(x, y) e RxR:x2+ 2 <1}

A C={(x, y) e RxR :max{|x|, |y|}=1]},
H AaFEl w1 W= T

Options:

11

[

g4, HT
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od

A={(x,y) eRxXR: |x|+ |y| = 1)
B={(x,y) e RxR:x*+y>=1} 24
C={(r,y)e RxR:max{|x]|, |y|}=1}

dl A8 ANBAC wul uedidl v

Options:
1.1

4 :‘L'l"irt
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Correct Marks: 4 Wrong Marks: 1

1+ 13/3
Letu= 4 andz=u—u2—2. Then

the value of 74 +3z3 +222 - 11z—6is :

Options:
1. 1

i
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1 4 ? = =
ATy = ITN"H‘Eszu—u*—E%I Al

A43242:211z—6 FAA T
Options:

p. 1

2
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1+ i3 - 3
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Correct Marks: 4 Wrong Marks: 1
Let (a, b) be the solution of the system

[x e = b If d h
x y] s 1 = li b f o and B are the

roots of the equation ax?+ 2bx — (a +b) =0,
then the equation, whose roots are aff and

1 E

— 4+ — 18

0 [
Options:

| 122+ 47x+40=0

5 12x2 + 17x—40=0

5 1222 —53x+56=0

4 9x2 +54x +80=0
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Correct Marks: 4 Wrong Marks: 1

EIIREED

wafs 3= [F

F1 FTA (a, b) 21 Al FHHIW
ax2+2bx—(a+b)=0 FHFT o AMB T, T

Options:

] 1222 +47x +40=0

5 1262+ 17x =40 =0



3 12x2 —53x + 56 =0

4 9x2+54x+80=0
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5 1 3 2] .
ARlY (a,b) = el [x y] [5 1] = L] -l
Grd 6 od o 2 B 2L Wl
axZ+2bx—(@a+b)=0 i oflsr €, cl sl
oflor af 2 L+ % gly do wlsze

e

8.

Options:
, 120°+47x+40=0

5 12x2+17x—40=0

5 1232 —53x+ 56 =0

4 9x2 +54x +80=0
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if A% = & bl WhDI‘E.-‘ﬁs= b
‘ c d|’ ‘ 0 21’

thena+b+c+dis equalto:
Options:

~19
1.

zzﬂ
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| a b i i =
Ifg AY = W@ A= | g @
C L'l_ __[! 7_
a+b+c+d H'{IEF'I%':
Options:
. 2[9

420
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5 20 a b . i 7 o
A A=
od L d} sed L" 5|

a+b+c+d=

Options:

19
1 -
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Correct Marks: 4 WrongMarks: 1
The number of solutions of the equations

3x—y—z=0
—3x+2y+z=0
-3x+z=

such that x, y, z are non-negative integers
and 12 -t-yz-t- z2=81 is :

Options:



3
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x—y—z=0
—3x+2y+z=
—3x+z=

%ﬁ%ﬁ?ﬁm ﬁFﬁx,y,z U 1{Uﬁ?ﬁ
jr:ia"T"I?JTJ:E-+-l.|'3+- 22=81% % :
Options:

1, @

M2
~]

-3
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walszell

3x—y—z=0

—3x+2y+2z=0

- 3x+z=0

AL, x, i, z 240 YoUst €l 2l ¥ + 12+ 22 <81
gl el Grledll vt 8,
Options:

1, 3
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The number of subsets of {1, 2, ....., 99}
containing at least 50 elements is :

Options:
90 25{}

299 __ ~49
el =2 2t

.

97
=57

98
4 -
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(1,2, ..., 99) F 3 I9Eg=a4, fo78 F9 4
FY9 50 999 &, FI &A1 T :

Options:
1 999 _ 250
> P92
= 297
4, i
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AGL {1, 2, ..., 99) AL 2L 2491 50 el
gaiedl Gwaldl vt 8.
Options:

2“.1‘:} » 25{}
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The coefficient of ¥° in the expansion of

3_ )
x 6
(1 1}{ 9 15
L 2x™ ]
Options:
1 405
405
- 256
B 1406
5 256
405
2_
4.
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10
! b
1‘3 5]

(1-x)

% FER H x5 HIE T ;

2%

!

Options:
, 405

405
o 256

1405

= 256

105
4. 296
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N
X . &
(1 l}{ 7|t ERcreml 28 Al ueles
, <X A N
&.
Options:
, 405
405
5 256
M
3 2%
405
=
4
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Correct Marks: 4 Wrong Marks: 1
An A.P. having an odd number of terms,
has its first, second and middle terms as
—12, —7 and 38 respectively, then the sum
of this A.P. is :

Options:

| 896
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U HEE g, f99F =i % gen A ®, %
vy, f5d™ a9 95 92 Ha9: — 12, — 7 a9
38 & 1 50 THE 421 % AT ©

Options:



4 710
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o etl WEIH] 2vadl i @ adl 215 wuier Hell

ALy, (gl 2 weus wEL 2y —12, —7

A 38 €1, dl 2L iR BAeldl Wl
.

Options:

, 89

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
n
If S =% T. =n((n+l)(n+2)(n+3),

n L r
r=1

10 4
then >_J T is equal to :
=1

r
Options:
75
1056



65
4 1056
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Correct Marks: 4 Wrong Marks: 1
n
afg S, = 3 T, = n(n+1) (n+2) (n+3),

r=1 T
Opftions:
REN
1 1056
El
5 528
65
= 528
65
4 1056
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- n
sd S, = Y T, = n(n+l) (n+2) (n+3),,
r=1
10 -
4 X e
g =
=1 T"
Op'gions:
i
1 1056
8
-~ D28



65
4 1056
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1 -y
T A4 _L..-_L

If lim ; = =YP ., then p is equal
x4 /3 _ 4/ p s eq
to :

Options:
' ~11
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Correct Marks: 4 Wrong Marks: 1
. x4 — 474 .
gfg im ——— =% dpaRT:
r—4 I;”i _1_1
Options:
~11¢

L@

" —31/
2. {""'} x

50 7

—g
e

MoK
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5\:;1 lim —4.-"- Y = uT_"I Al
r—d x/3 473



Options:

—11

; @) 2
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Correct Marks: 4 WrongMarks: 1
Let f: R =R be a differentiable function
such that f(u+v)=f(u)+ 202+ 4uv for all

u, v e R. If f(1) =3, then the equation of the
normal to the curve y=/f(x) at the poinl

(L 4(2))

\ < J

Options:
1 Ix+y=3

2x—4y=-5
2x +4y =7

7 3x—y=0
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HE U SFFeqE Fed f: R — R SHYFR
g f& =dft u veR # fau
fiu+0) = flu) + 202 +4uo T1 AR f1)=3 F,

1 5 (2, 71wy = o) e

=1 THET 2 ;
Options:

1 3x+y=3



20 +4y=7

4 3x—y=0
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Correct Marks: 4 Wrong Marks: 1

ARl s f: R—R = 2y [Qsadl [au o %
o7l Uclls 1, ve R M2

f(u+0) = flu) +202 +4up U od f{1)

W 2L
£t

45 y=flx) - [Gig [_ [

=

2)
Mo wallsva .
Options:

1 x+y=3

= 2x +4y =7

i 3x—y=0
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Correct Marks: 4 Wrong Marks: 1

Let he Rand
[N [x+ 1], x< —1
f@)=1 -, x=—1

| [sin(mx)] + 2Ax, x> —1

where [t] denotes the greatest integer
function. If f(x) is continuous at x= —1,

then A is equal to:

Options:
1 1
1
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HMAT A e R A9
[ A [x + 1], x<—1
f@=1{- N, x= -1

| Isin(wx)] + 2Ax, x> —1

W@l [t] HETH O Fer g1 A x=—-1 W
ﬂx}?.:fﬁ'ﬁ%.ﬁlhw%:
Options:

1 1

[0
g

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
MRl 5 A e R 2

[ A [x + 1], x< — 1
fx)=1 - N, x=-1
| [sin(mx)] + 2hx, x> —1

sedl [f] 21 weriy yells (98 sald 8. flv) =l
x=—1 2P0 Heid S dl A

Options:
1 1
1
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If the tangent to the curve, x2%y +ay> =,
(a, peR)at thepoint (1, 1)onitis4x +3y =7,
then the normal to it at the point (x,, —5),
x, < 0 on the curve, is :

Options:

i 3x+4y +26=0

o 3x+4y+23=0

L 3x+20y+103=0

3x + 20y +106=0
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s 76 22y + aP =P, (o, e R) F T (1, 1)
T ool dx+3y=7 ¥ G 9% & fag
x5, =9, <0 W Afeia %

Options:

1 3x+4y+26=0

o 3x+4y+23=0

o 3 +20y+103=0

3x + 20y +106=0
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Correct Marks: 4 WrongMarks: 1



oA 45 ¥y + =B (o, P € R) Wzl (45 (1,1)

AL 2425 dr+3y=7 €4 ol d 9 Wl

(o5 (x;, —5), x; <0 204l =[G
8.

Options:
: 3x+4y +26=0

5 3x+4y+23=0

. 3x+20y+103=0

4 3x + 20y +106=0

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let AP and BQ be two vertical poles
standing on the horizontal ground at two
points A and B respectively. If AP=16m,
BO=22 m and AB=20 m, then the
minimum value (in m?) of RP?2+ RQ?,
where R is any point on AB, is :

Options:
, 840

5 940

1048

1148
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oAl Afq Y & 2 fagsi A 991 B W
FHY: S W AP @91 BQ Hig we ¥ 3fg
AP=16 Hi, BQ=22 i 791 AB=20 #i &, 1
RP2+ RQ?, 5@ R, AB W[ fag 2, #1199
e (arf @ H) ®

Options:



| 840

940
1048

1148
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diRl & s wlidlsy e w o BiRide aisa
AP 2 BQ 2453 [Clg21l A 214 B 2014 Gelen
8. ol AP=16m, BQ=22m %1 AB=20m
§B4, dl AB Wl Bl R w2 RP2+RQ? -l
ety Gud (3{le2 wi ) 8.

Options:
, 840

5 940

1048

1148
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Correct Marks: 4 Wrong Marks: 1
2

The integral J- dx is equal to:

e -1
(Here C is a constant of integration).
Options:

¥ + loge |@F —e | + C
x+log, |€f—e ¥ + C

5 — X log, |e*+ e ¥| + C

|+ C

X
” x+logs |5+ e
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2
WJ. dx ST 2
n:-?‘x 1

(Il C UF THIFE 3T 2)

Op_tions:
¥ + loge |@F —e | + C
5 — X3 loge |e'—e | + C

| X - v
. x+log, |eo+ 7| + €

|+ E

X
. x+logs |5+ ¢
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[P
(24l C 2 sl 2Ruis )
Op.tions:

x+ log. |ef —e |+ C
x+log, |ef—e | + C

| T -1 v
. x4+ logs |7+ e 7| + £

Fl + C

. x+ log, le* + e
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Correct Marks: 4 Wrong Marks: 1
The integral

I: sin ! (31 — 4:1"':'] — cos [4.1:':'— 3x)| dx

o |1 Oy, 1]

is equal to :



Options:

M2
ka3 | =l

e
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HHRA

| sin "1{3_1' = -11"1] ~ cos [4.1"]' = _'-.‘l.t]l] dx

|“i_._-_l [ I'—

|

b |

SE
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[.ﬂ.‘in_j b= —1_1"1] — cos L (4x® - 3x) | dx

r_.i_'—-—-. Fd|=

Options:

3, 0
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The area (in sq. units) of the region

.A:{{Ly};['lﬂyzxﬂ W2 yI is :

Options:
42 7
1 3 6
a2 7
> 3 6
22 5
L —
=z 3 6
..?\.I'E 1
i 3 6
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g3 A= {(x, y):0=y=x= 2 y}aﬂ

e (=7 shEEl H) ®

Options:
442 7
1 3 6
a2 7

> 3 6



22 5

1 el

= 3 6
.?\.I'E l

g 8 6
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Yy A= {(1 y):0=y=x=2 y} 1

L W CARERERTEY) B,
Options:
2 7
3 o B
w2 7
2 3 6
242 5
1_
5 8 6
.2\."{5 1
i 8 B
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Correct Marks: 4 Wrong Marks: 1
Lety=y(x) be the solution of the differential
equation e¥dy=(1+x+e¥+xe¥) dx and
y(1)=0. Then y( —3) is equal to :

Options:
1. 0

._.
=]
(s ;=]
i+
—
3%}
™
B3| 2
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HAT  y=y(x) AIHA  HHEHIT
efdy=(1+x+eV+xe¥) de T y(1)=0
TAC! A y(—3) TR :

Options:

1. 0

—
=]
(s ;=]
i+
—
3%}
™
B3| 2
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aiRl 5 y=y(x) = (e wdlszw
e¥dy=(1+x+ eV + xe¥) dr2iiy(1)=0 -l Gidt
O.dly(-3)=_

Options:
L

B3| w2
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Correct Marks: 4 Wrong Marks: 1
If Aﬂ, Al, As._, AH, Ai and AE are the verlices
of a regular hexagon inscribed in a circle of
unitradius, then the product of the lengths
of the line segments AﬂAT, Aﬂﬂz and ADA3
is:

Options:



25
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afe zaE B F U 99 & SAaia us fafa
TS H UG Ay A, Ay Ay A THAE @
WmETEl AjA,, AA, T A A, T Tl
T IAFA 2

Options:

. 22
545

.

4.
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ol 45 5 Blertnl dquil »iceid 25 [ Bid
uzslel AL ReRilbg=l Ay, A A5 AL A, 2
Ag €, ol 7ot AjA |, AjA, 2 AGA, <l

detd@il-l 2euse 5.

Options:

L 2
,

243
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No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A line is drawn from a point P(—4, 3) to
cut the circle, x= + l.r2 =4 althe points Aand
B. Then PA-PB isequal to:

Options:

2
1. 2

27
z 21

17

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

famg P(—4, 3) | U T @idr ¢ T S g9
2 +y?=4 F fagsli ATNB WHRAZI @
PA-PB e €

Options:

2
1. 2

27
z 21

17

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Correct Marks: 4 WrongMarks: 1
(5 P(—4, 3) wizl Si3d 215 2w, 9dn
24+ y2=4 - 52l A 24 B 4l 88 ©. dl

Options:

2
L. &2

jl-.
i R
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Correct Marks: 4 Wrong Marks: 1
2 . 2

The normal to the ellipse il I L =1 at
16 36

5

a point P on the ellipse has slope 3 If this

normal intersects the major axis of the
ellipse at a point A, then (PA)? is equal to :

Options:
104
g 9
1%
> 9
88
=z 9
32
4, 3
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2

2 2
fega L+ 1 FwmRgP W

16 36
Afers Ft wav (slope) % g afz ==
AT 9T & <19 33 F UF fag A W
F12dl 2, A (PA)2 TR

Options:
104

1. 9
136



88
9

32
4, 3
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Correct Marks: 4 Wrong Marks: 1
|

2 2
Guaey ;—6 : % — 1 Wil [ig P 20104l

w[qE ol 2lol 39 wi[tgdo GuaayHl
el @EAd (Mg A %l 8, dl (PA)2

Options:
104
g 9
1%
> 9
8
3 9
32
4 3

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If tangents are drawn from the point
(4, 2) to the hyperbola, 16x>— 251> =400,
then the sum of the reciprocals of the slopes
of these tangents is:

Options:

k3|

]
| kI



L6 ) B

6 1=

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gfe fa=g (4, 2) ¥ AfTHEe™ 1622 — 2517 =400
T IV Wi TS E, 5 S #it
AT (slopes) %ﬁw 1 IRTHA € :
Options:

5

2

]
| k3

L6 =

1| e

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

st [ (4, 2) uiell e 1632 —25y2=400
A 2yelsl gl 2ue, dl 2 FyelsAL sl

e 3cliAl HreL £,

Options:

k3|

]
| k2

L8 ) =



(6 =S

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A plane passes through the points («, 1, 0),
(o, 2, 1), (—2,2 —1)and (1, 1, 0) for some
a € R. Then the distance of the point
(1,1, 1) from this plane is:

Options:
1
1 22

-2
=][
[

3
3%
g N
2
4 “ﬁ

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ol o € R % T0 UF d8ae 93 (o, 1, 0),
(2,1),(—22 —1)T90(1,1,0) ¥ EHL ST
2 fag (1,1, 1) 5 59 woae U g #

Options:

||
-3

-2
=][
[

]|
2

(]

4



Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

w5 WAL 5195 a e R He [[A52 (o, 1, 0),
(0,2,1), (=2,2, =1) =i (1, 1, 0) izl wir
21 8. dl (G5 (1,1, 1) 4 2 el »id

- R
Opt_ions:
X
) N2
5
o, VI
3
= E

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

k3
o/

S
e}

— — 1 A )
Let OA = a =;[;' boj

A

— — A
OC=b=1i-2j-

E

and

— — — ) )
OB = 10a + 2 b - Letp(insq. units) be

the area of the quadrilateral OABC and q
(in sg. units) be the area of the

— —
parallelogram with A and QC as

P

adjacent sides, then = is equal to :

!

Options:
1.3



Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

—F —F 1 A A M
- A
e ] —k A A A
OC=b=i-2j+ kM

—

= — 5
OB =10a +2b & | A =g OABC
1 S (F sFEA H) p § 9 HAWR

m s S -7
AT Fmh! e & OA T OC &, #
el (3 sedi ) q €, A %w%:

Options:
1. 3

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ﬁ.

= —
HRLSY OA = a =

B3| =

.—} — )
OC=b=1i-2j+k @

My

_} — _'\"". =, = -
OB=10a + 2b 9. sAAPSILOABC 4

a0 p (2L 25l 2 ol wrous-l syl

— w & = - 2 - b
QA M OC & ddl MRy ABS181

81501 q (2l Sl ey, A % - .
Options:
1



Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A bag contains 8 white and 6 black balls. A
ball is drawn at random from the bag, its
colour is observed and kept aside (i.e., not
returned in the bag). Three additional balls
of the same colour as observed are put in
the bag. If now two balls are drawn
simultaneously at random from the bag,
then the probability that these two balls are

of different colours, is :

Options:
2
1, D
4
> 15
7
3 25
18
4 35

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U ¥l H 8 HFS a9 6 Fiefl e &1 GeI H A
TH 1o 3 fem S 2 (i a6t |
8T T W) | 2 T 0 F A Afafied e
Io1 B T < 1t € afe o S § F 9 iie
M= T UF WY el ot €, & 59 2 e

F =1 1 =1 81 =) g 2
Options:
2

1. D



Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

w5 UdL U 8 ME 2 6 S0 EsL &, Hamisl
w5 £5L qEREDS A wiE saml 214 5. -l
21 AEAA 208 D Bt Gl YAl 20 ©
(wi2d b Al yae Hseusl 2l -#ll) BEa
Dl AQL, HEIRIAL ESIAL AAHD UBSL sl
2 5. e ¢ Azl A gL 25 W wskis
Zla yade seerl 2, dl 240 eid st Bt St

Gl Al deusHL 5.

Options:

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A factory has two machines A and B. The
machine A produces 60% of the items
manufactured while the machine B
produces 40% of the items, Further 2% of
the items produced by the machine A are
defective and 1% of that produced by the
machine B are defective. If an item is drawn
al random from the manufactured items,
then the probability of its being defective
is :

Options:

. 0.160

> 0.052

- 0.016

4 0.014

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

U FREH | ST A9 A 9B T | Fel sl
TS THE § ¥ 60% HIH A A €, Sarh
[ B, 40% =G 81 TF: HIH A GRSl
TE gl &1 2% Ffeqr § AW wEE B gW
AT TE TS F11% g0 21 Ffe =T
TS G H | TF T A A AwrEr St
Options:

. 0.160

5 0.052

- 0.016

4, 0.014

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



D5 SEWIAML A Bl A B BB, A A 3l
[l it 60% GowsA 53 8. s 43 B
2 (B A 2Al41 40 % Grug 53 &, ayul 42t
A g1l Goullea srgodiaizll 2% sadil visllysal
&9 24 42 B gl21 GoulfEdt izl 1% 21l
wilysel 8. od (B sRquisiEl s g
YlE(zs dld uds sretdl 2ud, dl d uedysd
€l otell Howel 5.

Options:

. 0.160

5 0.052

5 0.016

, 0.014

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The mean deviation about the mean of the
data in the [following [requency
distribution :

=~ 0 1 2 3
frequency| 2 5 4 1

is :
Options:
4

1. 3

13

> 18

o

ol

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
: =

X 1 0] 1! 2 3
gREmar | 2 | 5| 4| 1

H HAfee] 1 9 & W 5 fagen ¢

Opt_ions:
4
;. 3
13
> 1B
5
z 6
5
4 9

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
(2L 2 Eazemi qildd wedsell w3l

G 2| 5| a4l 1

Opt_ions:
4
;. 3
13
5 18
5
z 6
5
4 9

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



LetS={0¢ (0, 27): 2sinb (4 sinfl —sin30)=3}.

; ) _

Then Z tan~ 30 is equal to:
fHes

Options:

1 12

2

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HATS={B€ (0, 277) : 2sinb(4 sinb — sin30) = 3}
%, ar Eta_nz."‘-ﬁ W%:
hes

Options:

1 12

2

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A S=1{0e (0, 27) : 2 5inB(4 sinf —sin30) =3}
dl E tanZ 30
hes

Options:

;12

]



Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two towers AB and CD are standing on a
horizontal plane with points A and C on
the plane. If AB=10 m and the angles of
elevation of D from A and Bare 60 and 15°
respectively, then which of the following

(in meters) is not true ?

Options:

-~ B
1 AL=E{~.E - 1)

D= (3 V3)

iy
3_'BD=5\ﬁ
, AD =5(v3 +1)

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Hfas I9aa & fagali A 791 C W H§4r
ABTHICD @Sl &1 AT AB=10 M 9D F
A T41 B 9 399 FIU HHI: 60° 91 15° T,
oA FEw (HH) g T e
Options:

AC = %{\ﬁ - 1)

1.

CD = ;i'{:x 3

&
3_'BD=5\,E
, AD=5(+3 +1)

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 Wrong Marks: 1

w5 U Eldsy WidaAL G5l A 211 C 2w
of 21l AB 244 CD Golel ® sl 2192 AB -l
Glaud 10 m B, oA [65 D -, Fig»il A 214 B
2l Geusiol 258 60° A 15° ¢l dl
eAl2iArizll 54 (slexnl) w417

Options:

LB
1 ALzE{ﬁ - 1)

e Bl
i D= {34 J3)

AD=5(+3 +1)

4.

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following statements is a

tautology ?

Opt.ions:
, P (~( ~ q)
, AV (~(pvg)

s PvaAl~rg)

s A (~(p ~ q)

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=1 5 | FH W FYH U GAe 22
Opt.ions:
pr(~(p ~9)

1.



s Pradvi~pv9)
v A (= A9

5 3 P~ q))

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Azl 54 Bad Foguey 97

Opt.ions:
pa(~(p ~ q)
, @AV (= va)

SV A (~(paq)

qv (~(p A
i q P~ q))

Aptitude Test

Section Id : 416529344

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 8

Number of Questionsto be attempted: 8

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529508
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 45)

Juestion Label - Comprehension
Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

Which one of the following was usually
constructed in a chaitya in a Buddhist
Monastery ?

Options:

L Linga

5 Mandi

5 Stupa

4 Cross

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The famous Sun Temple is located in which
of the following State ?

Options:

i Bihar

5 Odisha

2 Jharkhand

i Chattisgarh

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The horizontal part of a staircase is known
as which of the following ?

Options:

" Baluster



Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Where amongst the following are the
famous rock cut caves found in India ?

Options:

L Bhopal

5 Allahabad

i Ellora

4 Bijnor

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following colors is
considered to be the happiest of colors ?
Options:

1 Blue

5 Black

= Yellow

4 Red

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Who amongst the following designed the
Madhya Pradesh Assembly building ?

Options:
. B.V. Doshi

5 Raj Rewal

3 Charles Correa

¥ Prem Nath



Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which among the following is the tallest
building in Kolkata ?

Options:

1 The 48

The 42
2 The 45

i The 46

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The Capitol Complex of Chandigarh is
designed by which one of the following
architect 7

Options:

L Raj Rewal

5 Charles Correa

2 Le Corbusier

. BV.Doshi

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The texture of a baby’s skin is which one of
the following ?

Options:

i Rough

5 Smooth

4 Corrugated

4 Bumpy



Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A gondola is a boat found mainly in the
canals of which one of the following
cilies ?

Options:

L London

5 Paris

Venice
=,

a: Frankfurt

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The best shadow less light is found from
which of the following direction ?

Options:
1 North

South

M2

East

West

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In the Indian product market Ebco is known
for the manufacture of which one of the
following ?

Options:

: Plywood

5 Glass

= Architectural hardware

4 Tiles



Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Whatis the thickness of a normal one brick
thick wall ?

Options:

i 300 mm

a3
5 330 mm

¥
= 230 mm

4 400 mm

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following colorsis made when
red and yellow colors are mixed ?

Options:

. Green

5 Purple
g Orange

i Black

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A gulter with a sloping roof is meant for
which of the following ?

Options:

L Holding the roof

5 Draining rain water

5 Decoration

i Protecting windows



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 45)
Cuestion Label @ Comprehension

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

frefafaa § 4 fra faim smdr W eg
T2 H Je § o A o ?

Options:

, fem

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
wias g4 A Frefaiaa 5 4 5 =3 |
fom 27

Options:

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Hier & dfas 9 =1 fr=fafag § 9 fFa
®Y H S S &7

Options:

|, I3 A

5 Feq T (22)



, BT T (S=T)

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9 § fe=fefa § 7+ 9 97 W 9ids
e e I & 7

Options:

15 '

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Fret H 9 o €1 31 e At e o A
0 H I U 5 S w7

Options:

1. Arem

Z. ’

5 e

4, T

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T Yeu faumAEe vyaq = feemsa fFefafay
§ 3 fFga femmea fran 272

Options:

| e,



Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Freafafaa § § o 9t Frewm i g9y 4t
THRA 27

Options:

1 48

5 42

46

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

J2re & Hivea Hream frafatag § 3
g argFr gm0 fewmsa faan T &2
Options:

, T @

o HTeH HEE

= Haﬁj‘ri\ 20

, S

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T I = W e fefatad # 3w
€7

Options:



Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e 919 i w9 H frafatad § | fFh
FIEX I AU H WG T ATl AE € 7

Options:

1, W&

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

frfefad H | f9 faon 9 9=l s=a1 3™
o ehTer AT S &7

Options:

1, SWE

> aferm

4 e

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HEAD Ie91E Fe1 H A (Ebeo) FfarEa
4§ fg us & AW % o s a8 2

Options:



M.

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e $2 i W <A i A2 e 2l & 7
Options:

, 300 fa=t

- 330 AT

230 T4,

4 400 TRHT,

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

w1 i ren 1 fafga 29w frafatas § 3
FH | T TR ?

Options:

&l

et

Gl

g, T

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ToAM 9 99 & WY UH Al 1 AEm
Fyeaferfiaa ¥ 4 foras fAu S 22

Options:



] =a H TR

;5 T 9

o

. el =1 e &

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 45)
Cuesticon Label | Comprehension

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Al Al AlEA (B (H8) Al el 2ue e
53Ul 2]

Options:

p, b

,
3 T

4 sy

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

wfea 9l sy izl sS4 el 2uEd
57

Options:

e

e 5 "
5 wif [2aa4)

W
2 HIRWMS

i s9riladd12



Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(el wuleddse swer Azl sl fla
DUUTASLHL 2L 897

Options:
| U

> 8

o

= 2d

i sea-l 2imel

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

sl sloRd sl eurddl AlR-umisl sul
sdell 44 7

Options:

NG

e 1 R 1 13

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Alziizll g4l P 2udssis (vl 2uyAe)
AL 209 5 T

Options:

i i guil

o Sl

3 Mo

.
i glid



Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HepzaHl [Farounl Har HlRiAmiel siel
(St1d 5 67

Options:

. ofLell. giell

o et 2l

. e siEL

3 2
4 MHAR

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Alzlrizl 54 “si sastEi G 64 69

Options:
, Hl48

, dlaz

5 dl45

4 446

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Aldamigll su drdsE (Rauld=) =gl
sleie sivusud Shad 54 87

Options:

ECEEIC

) e sl

d slefalz



oLl glall

4,

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
wlnsl Ul Wi (texture) Al s
IEICS RUCRSY,
Options:
£
L WSS (Rough)

, 449 (Smooth)

5 svudlys (Corrugated)

, dBHesd (Bumpy)

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

st 5 o =is €6l B o AlRiAizl s gl
AR AL HA & )

Options:

[ Es

Yzl
el

, e

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A2zl 56 Eausizll el wel sk 2o
U512l WA WL 5]

Options:

; GdR

o BT



Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Mzcld Godled clsavdl (Ebeo) #i Izl
56 el Gowe w2 saelld &7

Options:

| vargs

> 53

5 RN IE

. sl (Tiles)

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A 2 @i Gl sadl Eauadl sasd sedll
URY)

Options:

1 300 mm

5 330 mm

230 mm

400 mm

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

a2 Jlow 2ot [zl AlRiAisl s4 3o
[l 24 87

Options:

y
i el



P CET
5 il

51U

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AL} (2122) & o7 @10 45t 9et AL €l o |2zl
A W2 M BT

Options:

] £9riel WsS1 20telL

o ezleAl Wl Alsd we
5 HAHZ HR

4 el yea

Sub-Section Number: 2
Sub-Section 1d: 416529509
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Cesticn Label | Comprehension

Directions : Which one of the answer figures is the correct mirror image of the problem
figure with respect to X - X ?

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X
X
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X

Options:



&
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)
Juestion Label - Comprehension

TE9T : 3o il & & S anfa & T weE aEfa w1 X - X O gefyd w@ 2i gfafas
77
Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (46 to 50)

Cestion Label | Comprehiension

Haedl © sreiiol 2aglaziizll 58 2usld wa 2ugldd X - X A arig wef sdel kv 97

Sub questions

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:



Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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X
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Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
X

Options:
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Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1




Sub-Section Number: 3
Sub-Section 1d: 416529510
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Juestion Label - Comprehension

Directions : Which one of the answer figure will complete the sequence of the three
problem figures ?

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=3

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51to 55)
Juestion Label @ Comprehension

ST : I afodl § F F1 W ATHf F T W9 A § T H STFEE (sequence) T
= S ?

Sub questions



Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (51 to 55)
Cuesticon Label | Comprehension

Hauel szl gl il 58 2ugld e us 2ugld-l sl yel 52217

Sub questions

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

*J




Sub-Section Number: 4
Sub-Section 1d: 416529511
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Juestion Label | Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct front view in
the direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:




Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ﬁ

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-

Options:



Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
Cestion Label | Comprehiension
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Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:



Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

|

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (56 to 60)
ouestion Label | Comprehension
Hasl : 3- D wugld 215 uged e ol 8. dl-l Bl eddi wod) 1e] w3 2R s
wgldoiiel sl sal.

Sub questions

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Y

Options:



Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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L
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Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Sub-Section Number: 5
Sub-Section 1d: 416529512
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)
Cuesticon Label | Comprehension



Directions : One of the following answer figures is hidden in the problem figure in the
same size and direction. Select the correct one.

Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61to 65)
Cuestion Label @ Comprehension

frdor : = 31 Tl S sl § 9§ uE i A R fawn § e ' 4 v et | g
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Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1




Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (61 to 65)
Juestion Label - Comprehension
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Sub questions

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



e

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Sub-Section Number: 6
Sub-Section 1d: 416529513
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 70)
Cuesticon Label | Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct top view
from amongst the answer figures.

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Options:
I

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

>
L ff‘_[ }

. e,

Options:




Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 70)
Juestion Label - Comprehension
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Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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I

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Options:

L

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 70)
Juestion Label | Comprehension

Wl 0 3 - D 2igld s ugield e snd 6. srstiot wugldeiiizll W Gudl s sl sul.

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Sub-Section Number: 7
Sub-Section 1d: 416529514
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (71 to 75)
Cuesticon Label | Comprehension

Directions : The problem figure shows the top view of an object. Identify the correct
elevation from amongst the answer figures looking in the direction of the arrow.

Sub questions

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (71to 75)
Cesticn Label | Comprehension
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Sub questions

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:




Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (71to 75)
Cuestion Label @ Comprehension
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Sub questions

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Sub-Section Number: 8
Sub-Section Id: 416529515
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (76 to 80)
Juestion Label @ Comprehension

Directions : The 3D figure shows the view of an object. Identify the correct side view in
the direction of the arrow, from amongst the answer figures.



Sub questions

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (76 to 80)
Juestion Label - Comprehension
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Sub questions

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

P
"

o
< e

g -

-.;'_ " "-.!
i T
\.""NM Il.-'--'.". .-"-.
e ) g
s T -~

. “a =
e I
e ...____.
L

o it T3
e,
e

Options:

o

=
=
4. 5

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (76 to 80)
Juestion Label @ Comprehension
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Sub questions

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Drawing
Section Id : 416529345
Section Number : 3
Section type: Offline
Mandatory or Optional: Mandatory
Number of Questions: 3
Number of Questionsto be attempted: 3
Section Marks: 70
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529516
Question Shuffling Allowed : No

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20

In the space provided in the answer sheet
for this question, draw margin lines to form
a frame. In this frame create an aesthetic
composition using only cylinders and
cubes. These can be of any size and may
be placed separate, overlapping or within
each other. The idea is to produce an
aesthetic and visually exciting composition
of these shapes in the frame without
making it represent any realistic form like
house face etc. These shapes and the other
spaces should be filled with some colors of
your choice so that the visual quality of the
composition is enhanced. 20 marks

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20



Copy the graphic image shown in the space
provided for the answer of this question.
Credit will be given to the exactness of your
answer. 20 marks

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20
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Sub-Section Number: 2
Sub-Section I1d: 416529517
Question Shuffling Allowed : No

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

In the space provided for the answer of this

question attempt any ONE of the

following : 30 marks

Design and draw anappropriate pattern for
a bed cover for a girls room. Color or shade
it to enhance its visual quality.

OR
Draw an imaginary picture of a
restaurant.

OR

Draw from imagination a picture of an
Indian leader.

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30
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